5
3

1

-5.5, 4, +

2l4= 3 7ol

o

@ A= 3 7ol

® A% 1 olet



@ 8 ® -9.8 @ 0.7

O +



b 2Fe AAUSe] Lyl Ao Yt BEEE 2Afste] &
24 91o] b Zloltk, BESHA LASE g%, PR 27A
re WEET} 44

A

=~




® 0

©® 59 duigt

of A9zt

5
2

@ -



5.

=2tet,

S O

— AN |

5,,21,2

I +
R
+ o+
Yo R
i i
(e} L0 K_d
o ! .
|T5,,25iz
[
—_lm ! .
+ o i
-+
YR M B
[ + ™
.+
$ [ap)
TOF s
©® ©



@ (=13) + (+32) + (-25) — (-19)

© -24-174+29-15

® -10, -5 @ -3, 4

@ 10, 6 ® 13, =27

® 13, 7




® -1

@ (_1)n+1

@ _(_1)11-‘,—2



8.



oA Adligho] 2 Hth

=
o

<

e

@ 0.7

© +2 ©

@ -1.1

® -2.3

7H



ol
w
o}J

ol

by
q

ol
<

IS
Nfo

ojn

13
6

A |-21>




x=-1<x

o, xgke] & Fstofz=t.



12. o= F vt AdS AL 2129?

@ (+7) + (+5) = +14 @ (-5)+(+2)=-3

@ +N+(-7=1 @ 0+ (-3)=3



14 2 1
_Z 44 2 _Z
) + ) 3 Y 6

24,0,

[a\ R Kael



14.

22 At
H7]
11 5
(—7) b (=1) = (435) - (-7)
25 18 10
-2 @3 0-; @®-2 @ 0-




15. o= F At A7 7P A2 A2

D -4+411-7+2 @ 8-9+13-20
® -4412-7 @ -1-34+6-4

® 8-4-7+2



16. ¥4 a, b7 Tt

© o plxsh
72 -

= W,a%—bﬂ%ﬁ%‘?

124



IHofA Al el

©
)

17. o



18. & ALtstelzt 1
(+4) x <+g) X (=10) X (+6) x (_ﬂ>

5 J=X
3%



D) 4b=02 W, axbo] A4E Fotolet
19. (-16)xa=1, (—5) +b

D R
=%



20. oF& AN A3t e S



21. o= A Aldtste HEoIA Agez E9 & Fotot

(=72) = {8% (-2)"} X (-6) —

=(=72) = {3x (+4)} X (-6) ‘:@
=(-72)+12 X (-6) ‘:®
=(—-72)+(-6) x 12 :@
=12 X 12 :@
=144 1®




RS ol ato] AL 32

(=7) x 34 4 (=7) x 67

O -707

@ -490

® -100

@ 238

® 469



© A9} B o] g0 ok,
© A= B R} 47} AL

Be




24.

Zoddag bt a+b<0,axb>0d 0, o}S F 22
Z2e 12H?
D a<0,b<0 @ a>0,b<0 ® a<0,b>0

@ a>0,b>0 ® a<0,b=0



25.

o2 29 AgHA A uta His Hol Sl & 4 e
9] g2 oolt}. ojuf, Holz] ¢F= Al |l = 49

Fe AT, A g —7
® 20 @ 68 @ 120 @ 144 ® 252



